JAY )3 Backrest / JAY )3 back, hardware kit, compact (starting week 01/2016)

J3 FASTENER KIT GUIDE

Item #

lllustration

Description

1

WASHER FLAT M6

2

BARREL NUT RH J3 BACK

SHCS M5 x 0.8 x 30 PART NP

SHCS M5 x .8 x 20 INORGANIC|

NUT HEX NYLOCK M6 BLACK

TWO HOLE WASHER

LW SHCS M6x1x22 PL BLK IO

o (DR [lle

HHCS M6 x 1 x 16 PL ROHS

Spare parts
Item Article no.
no.

1,5-6, J3EUCHRDWS
10, 15 -
17

2-4B, 7 )J3EUCHRDW
-8,12 -
14

Pagel/1

aty
4 A
it
I
I
E
1
////
Description Remark
Brackets, compact hardware 2 pcs./pack
(backrest shell), user weight max.
136 kg
Clamps, compact hardware 2 pcs./pack
(clamps for back tube), user
weight max. 136 kg
14.08.2024


http://www.tcpdf.org

